| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

n o
N = I
£
Qe
[~ o
28 S
3
o —
— © 5 S
™ g
H
8
o =
o 2
1 E o
o B
= [ |
0 e
s
— 2 o
| £ ¢
o 3 1
E
[t} 8 o
N ¢ ]
i 8 1
5 5
z
0 _ o
N o
£
o O
QL
2 o
25 S
]
o
=
B 2
0
o o
el
! o
o —
= =
Lo N
i . o
1 R
o . )
o .
Ite] 1 o
N ) M
s! s 3l
5
n o
= ] 1]
£
HR e
[~ o
Ja s 5
S
Jo M
— © N o
s |8 =
-{o g
o
2
do ] o
....... o E|
1 5 o
=}
= s |
| 8
[t} 2
8 =t = o
| 3 IS
- B o = I
S 2 R s
I EH ) S
[P PRI W, - 0 2 >
] il = S pis 1
=1 S T o S o
[=2x=] z
= O J
o_u,w_
E=
odey
afal
L L 1o o
I ic N = [}
e Om
EE QL
i 0% 3
H -
x
=3 Jo o
oo — © o
afaf = =
-{o
...... o o
I
o
o 3| i
== : |
o
P o ¥ o
| @ N
o 5 )
i N
& 1] [ [ S
5 3 3 5 ) k) S 3
- - - Ll o Z — - Ll (=}
syoeln oney syoeln oney

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


